
h_sn0
29988  seirtnE
11.12    naeM
452.7     SMR

 / ndf 2χ  172.4 / 52
320.0     htdiW ± 1.249 
30.0        PM ± 18.83 
161      aerA ± 4.28e+04 

GSigma    0.041± 3.687 

0 5 10 15 20 25 30 35 40 45 50
0

500

1000

1500

2000

2500

3000

h_sn0
29988  seirtnE
11.12    naeM
452.7     SMR

 / ndf 2χ  172.4 / 52
320.0     htdiW ± 1.249 
30.0        PM ± 18.83 
161      aerA ± 4.28e+04 

GSigma    0.041± 3.687 

S/N(fit) = 20.21
clsigcal_max/clnoise {module==1} h_sn1

56009  seirtnE
93.12    naeM
239.6     SMR

 / ndf 2χ  167.1 / 52
220.0     htdiW ± 1.239 
30.0        PM ± 18.68 
561      aerA ± 4.471e+04 

GSigma    0.041± 3.688 
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h_sn1
56009  seirtnE
93.12    naeM
239.6     SMR

 / ndf 2χ  167.1 / 52
220.0     htdiW ± 1.239 
30.0        PM ± 18.68 
561      aerA ± 4.471e+04 

GSigma    0.041± 3.688 

S/N(fit) = 20.07

clsigcal_max/clnoise {module==2}

h_sn2
77964  seirtnE
71.51    naeM
978.7     SMR

 / ndf 2χ  59.58 / 48
640.0     htdiW ± 1.107 
90.0        PM ± 16.66 
771      aerA ± 1.487e+04 

GSigma    0.146± 4.268 
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h_sn2
77964  seirtnE
71.51    naeM
978.7     SMR

 / ndf 2χ  59.58 / 48
640.0     htdiW ± 1.107 
90.0        PM ± 16.66 
771      aerA ± 1.487e+04 

GSigma    0.146± 4.268 

S/N(fit) = 18.14

clsigcal_max/clnoise {module==3} h_sn3
69755  seirtnE
52.61    naeM
616.8     SMR

 / ndf 2χ  60.68 / 48
930.0     htdiW ± 1.206 
50.0        PM ± 18.78 
111      aerA ± 1.695e+04 

GSigma    0.09±  3.87 
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h_sn3
69755  seirtnE
52.61    naeM
616.8     SMR

 / ndf 2χ  60.68 / 48
930.0     htdiW ± 1.206 
50.0        PM ± 18.78 
111      aerA ± 1.695e+04 

GSigma    0.09±  3.87 

S/N(fit) = 20.20

clsigcal_max/clnoise {module==4}

h_sn4
15749  seirtnE
34.32    naeM
679.6     SMR

 / ndf 2χ    357 / 48
520.0     htdiW ± 1.473 
30.0        PM ± 20.43 
771      aerA ± 4.771e+04 

GSigma    0.046± 3.346 
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h_sn4
15749  seirtnE
34.32    naeM
679.6     SMR

 / ndf 2χ    357 / 48
520.0     htdiW ± 1.473 
30.0        PM ± 20.43 
771      aerA ± 4.771e+04 

GSigma    0.046± 3.346 

S/N(fit) = 21.75

clsigcal_max/clnoise {module==5} h_sn5
15189  seirtnE
55.32    naeM
62.6      SMR

 / ndf 2χ  342.6 / 48
220.0     htdiW ± 1.389 
20.0        PM ± 19.98 
181      aerA ± 5.166e+04 

GSigma    0.0±   3.3 
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h_sn5
15189  seirtnE
55.32    naeM
62.6      SMR

 / ndf 2χ  342.6 / 48
220.0     htdiW ± 1.389 
20.0        PM ± 19.98 
181      aerA ± 5.166e+04 

GSigma    0.0±   3.3 

S/N(fit) = 21.28

clsigcal_max/clnoise {module==6}

Beam on strips (no data selection):

h13 (PAS) h14 (PAS)

h15 (PAD) h16 (PAD)

h11(STD) h12 (STD)


